Unit 9 « BOOK BAND YELLOW

Goldilocks and the Three Bears
by Abigail Flint

Goldilocks saw three bowls of
porridge.

The first bowl was too hot.
The second bowl was too cold.
The last bowl was perfect.
Goldilocks ate it all.

Goldilocks saw three chairs.
The first chair was too high.

The second chair was too low.
The third chair was perfect.
The chair broke.

Goldilocks saw three beds.
The first bed was too hard.
The second bed was too soft.

The last bed was perfect.
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Goldilocks and the Three Bears

Use the story and pictures to answer the questions.

1 Goldilocks saw three bowls of corn flakes.

Write Yes or No.

2 The first bowl was too hot.

Write Yes or No.

3 Goldilocks saw three chairs.

Write Yes or No.

4 Goldilocks liked the third chair best.

Write Yes or No.

5 Tick one.

Goldilocks saw three:

baths.
beds.
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birds.
buds.
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6 “The last bed was perfect.”

“perfect” means the same as what?

Tick one.

awful

bad
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just right

okay
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